dopMmynbl: 1. X + a = Db,

JloMallHee 3a4aHue

X=Db-a

x-a=d
2. a
1. PewunTb JMHEWHbIE YPABHEHUSN:
I)X+5=0
2)X -7 =2

3)2x +3=x-4
4)2x -5=3x+1

5)5x = 10

6)3x =0

7)2x =3

8)4x -2 =6

9)3x+1=14

10) 2x-5=0

11) 4x-3=2x-1

12) 5+ 3=2x-4

13) 2(x+3)=x-5

14) 3(x-4)=4x+1
ax’+bx+c=0 x>+ px+q=0
. :—bi\/b2—4ac Xj¥X,=—p

dopMmynbl: 1. 7 2a 2. %74

2.PeluinTb KBaJZlpaTHbIE YPABHEHWNA:

1) x> =16
2) x> =5

3) x2-1=0
4) 2x*-8=0
5)x2+3=0
6)x* =0
7)5x> =0

8)2x*-10x=0
9)x*+5x=0



10) X>-x-6=0
11) 2x>+5x-3=0
12) 3x°+8x-3=0



